

Pay Estimate Created Date: August 18, 2025

Progress Estimate Number 6	Contract ID Prime Contracto	241115- r Capital F	D07 Paving & Construction	, LLC	Pay Period Start Pay Period End		2, 2025 15, 2025	Original Contract Amount Net Change Order Amount Current Contract Amount	\$3,651,571.9 \$2,237.7 \$3,653,809.6
Approval Date									By User
August 18, 2025	18, 2025 Generated and Approved (and should be considered Draft) at the Project Office Le								shankb1
August 18, 2025	st 18, 2025 Reviewed and Approved (and should be considered Draft) at the Resident Engineer Lo							Resident Engineer Level by	gabelj3
August 20, 2025	rigust 20, 2025 Reviewed and Approved at the Central Office Controllers Office L						Controllers Office Level by	ramses1	
Original Completi	Original Completion Date Current Completion Date Actual Completion Date % of Current Contract					of Current Contract Amount	nt Complete		
November 1, 2	2025	Noven	nber 1, 2025		88.55%				
	Contr	act Informa	tional Dates					Milestones	
Date Description	Original Compl	etion Date	Current Completion	n Date	1	No Milesto	ones Exis	t for Contract	
Acceptance Date									
Awarded Date	December 4, 20	24	December 4, 2024						
Letting Date	November 15, 2	024	November 15, 2024						
Notice to Proceed Date	January 6, 2025		January 6, 2025						
Work Began Date									

Contract Total Pa	ny For Estimate No. 6			
		This Estimate	Previous	To Date
241115-D07				
	Total Posted Items Pay	\$344,694.21	\$2,890,649.92	\$3,235,344.13
	Gross Item Adjustments	(\$103,250.31)	(\$9,071.12)	(\$112,321.43)
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
	·		\$2,881,578.80	\$3,123,022.70
Contract Total Pa	vable This Estimate:	\$241 443 90		

Contract	i otai i aye	10.0 11.110 20	timate. \$241,445.50				
tems Paid	This Esti	mate Period					
Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JCD0085	0020	2153000	SHAPING SLOPES, CLASS III	100F	\$1,350.000	25.560	\$34,506.00
	0030	3105002	GRAVEL (A) OR CRUSHED STONE (B)	TONS	\$36.760	263.330	\$9,680.01
	0040	4071005	TACK COAT	GAL	\$2.910	354	\$1,030.14
	0070	6161005	CONSTRUCTION SIGNS	SQFT	\$4.000	1,060	\$4,240.00
	0090	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	EA	\$1,750.000	4	\$7,000.00
	0110	6200009	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	LF	\$5.000	88	\$440.00
	0120	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	LF	\$20.000	72	\$1,440.00
	0130	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	EA	\$300.000	2	\$600.00
	0140	6200027	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT	EA	\$500.000	1	\$500.00
	0150	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.110	163,006	\$17,930.66
	0160	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.110	164,005	\$18,040.55
	0190	6061060	MGS GUARDRAIL	LF	\$26.500	1,387.500	\$36,768.75
	0200	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	EA	\$4,350.000	4	\$17,400.00
	0220	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	EA	\$3,750.000	4	\$15,000.00
	0250	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$98.000	1,115.500	\$109,319.00
	0260	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$99.000	526.100	\$52,083.90
	0270	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$99.000	29	\$2,871.00
	0280	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$125.000	95.400	\$11,925.00
	0290	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$138.000	28.400	\$3,919.20

Revision 5/29/2025 Page 1 of 17



Pay Estimate Created Date: August 18, 2025

Estimate	gress Number 6	Contract ID Prime Contractor	241115-D07 Capital Paving & Construction, LLC	Pay Period Start Pay Period End	J , .	25 Original Contract Amount 025 Net Change Order Amount Current Contract Amount			\$3,651,571.92 \$2,237.75 \$3,653,809.67	
Project Number	Line Number	Item Code	Item Description			Unit	Unit Price	Current Installed Qty	Current Installed Amount	
Project JO	CD0085 - To	otal							\$344,694.21	
Overall -	Total								\$344,694.21	
Contract A	diustment	s This Estimate								

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

roject umber	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
D0085	0020	SHAPING SLOPES, CLASS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user shankb1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	208.09000	\$1,350.00	\$280,921.50
	0020	SHAPING SLOPES, CLASS	Material			-208.09000	\$1,350.00	(\$280,921.50)
	0030	GRAVEL (A) OR CRUSHED STONE (B)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user shankb1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	333.18000	\$36.76	\$12,247.70
	0030	GRAVEL (A) OR CRUSHED STONE (B)	Material			-333.18000	\$36.76	(\$12,247.70)
	0040	TACK COAT	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user shankb1 overridding Payment Estimate Exception 6 on the current Payment Estimate.	16,169	\$2.91	\$47,051.79
	0040	TACK COAT	Material			-16,169	\$2.91	(\$47,051.79)
	0070	CONSTRUCTION SIGNS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user shankb1 overridding Payment Estimate Exception 7 on the current Payment Estimate.	1,704	\$4.00	\$6,816.00
	0070	CONSTRUCTION SIGNS	Material			-1,704	\$4.00	(\$6,816.00)
	0090	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Payment Estimate Exception 8 on the current Payment Estimate.	8	\$1,750.00	\$14,000.00
	0090	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	Material			-8	\$1,750.00	(\$14,000.00)
	0110	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0006) due to user shankb1 overridding Payment Estimate Exception 9 on the current Payment Estimate.	88	\$5.00	\$440.00
	0110	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	Material			-88	\$5.00	(\$440.00)
	0120	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0007) due to user shankb1 overridding Payment Estimate Exception 10 on the current Payment Estimate.	72	\$20.00	\$1,440.00
	0120	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24	Material			-72	\$20.00	(\$1,440.00)

Page 2 of 17 Revision 5/29/2025



Pay Estimate Created Date: August 18, 2025

Pro Estimat	gress e Numl 6	Contract ID per Prime Contractor	241115-D07 Capital Paving & C	onstruction, L	LC Pay Period End August 15, 2025 N	Original Contract let Change Orde Current Contract	r Amount	\$3,651,571.9 \$2,237.7 \$3,653,809.6
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
CD0085		IN. WHITE						
	0130	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0008) due to user shankb1 overridding Payment Estimate Exception 11 on the current Payment Estimate.	2	\$300.00	\$600.00
	0130	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	Material			-2	\$300.00	(\$600.00
	0140	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/F	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0009) due to user shankb1 overridding Payment Estimate Exception 12 on the current Payment Estimate.	1	\$500.00	\$500.00
	0140	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/F	Material			-1	\$500.00	(\$500.00
	0150	4 IN. WHITE STANDARD WATERBORNE PAVEME MARKING PAINT, TYPE I BEADS			This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0010) due to user shankb1 overridding Payment Estimate Exception 14 on the current Payment Estimate.	163,006	\$0.11	\$17,930.66
	0150	4 IN. WHITE STANDARD WATERBORNE PAVEME MARKING PAINT, TYPE I BEADS	NT			-163,006	\$0.11	(\$17,930.66
	0160	4 IN. YELLOW STANDAR WATERBORNE PAVEME MARKING PAINT, TYPE I BEADS	NT		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0011) due to user shankb1 overridding Payment Estimate Exception 16 on the current Payment Estimate.	164,005	\$0.11	\$18,040.55
	0160	4 IN. YELLOW STANDAR WATERBORNE PAVEME MARKING PAINT, TYPE I BEADS	NT			-164,005	\$0.11	(\$18,040.55
	0190	MGS GUARDRAIL	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction	i		(\$17,135.62
	0200	MGS BRIDGE APPROAC TRANSITION SECTION (REGULAR/NO CURB)	H Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction	i		(\$7,060.00
	0220	TYPE A CRASHWORTHY END TERMINAL (MASH)			Payment Estimate Item Adjustment generated Stockpile Transaction	i		(\$7,400.00
	0250	BITUMINOUS PAVEMEN MIXTURE PG64-22 (SURFACE LEVELING)	T Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0017) due to user shankb1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	1,115.50000	\$98.00	\$109,319.00
	0250	BITUMINOUS PAVEMEN MIXTURE PG64-22 (SURFACE LEVELING)	T Material			-1,115.50000	\$98.00	(\$109,319.00
	0250	BITUMINOUS PAVEMEN MIXTURE PG64-22 (SURFACE LEVELING)	T Other Item Adjustment	Asphalt Cement Price Adjustment	(513.75-493.75) x 1115.5 x 3.9% = 870.09			\$870.09
	0250	BITUMINOUS PAVEMEN MIXTURE PG64-22 (SURFACE LEVELING)	T Overrun		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	-74	\$98.91	(\$7,319.56
	0250	BITUMINOUS PAVEMEN MIXTURE PG64-22 (SURFACE LEVELING)	T Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,115.50000	\$0.91	\$1,018.45

Revision 5/29/2025 Page 3 of 17



Pay Estimate Created Date: August 18, 2025

Estimate	gress e Numb 6		115-D07 ital Paving & C	onstruction, L	LC Pay Period End August 15, 2025 N	Original Contract let Change Orde Current Contract	r Amount	\$3,651,571.92 \$2,237.75 \$3,653,809.67
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JCD0085	0260	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0021) due to user shankb1 overridding Payment Estimate Exception 4 on the current Payment Estimate.	6,183.10000	\$99.00	\$612,126.90
	0260	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Material			-6,183.10000	\$99.00	(\$612,126.90)
	0260	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment	(513.75-493.75) x 526.1 x 3.9% = 410.39			\$410.39
	0260	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Overrun		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	-526.10000	\$99.91	(\$52,564.23)
	0260	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	40.30000	\$0.91	\$36.79
	0260	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	485.80000	\$0.91	\$443.54
	0270	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment	(513.75-493.75) x 29.0 x 3.9% = 22.62			\$22.62
	0270	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Overrun		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	-29	\$99.46	(\$2,897.48)
	0270	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	29	\$0.91	\$26.48
	0280	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment	(513.75-493.75) x 95.4 x 3.9% = 74.41			\$74.41
	0280	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Overrun		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	-94.60000	\$125.91	(\$11,911.37)
	0280	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	95.40000	\$0.91	\$87.10
	0290	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0027) due to user shankb1 overridding Payment Estimate Exception 5 on the current Payment Estimate.	262.80000	\$138.00	\$36,266.40
	0290	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Material			-262.80000	\$138.00	(\$36,266.40)
	0290	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment	(513.75-493.75) x 28.4 x 3.9% = 22.19			\$22.15
	0290	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	28.40000	\$0.91	\$25.93
	0360	CURB BLOCKOUT	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0028) due to user shankb1 overridding Payment Estimate Exception 20 on the current Payment Estimate.	52	\$205.38	\$10,679.76

Revision 5/29/2025 Page 4 of 17



Pay Estimate Created Date: August 18, 2025

-		• •							
Estimate	Progress Contract ID Estimate Number Prime Contract 6		241115-D07 Capital Paving & C	onstruction, LLC	Pay Period Start Pay Period End		Original Contract Net Change Orde Current Contract	\$3,651,571.92 \$2,237.75 \$3,653,809.67	
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comm	ents	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JCD0085	0360	CURB BLOCKOUT	Material				-52	\$205.38	(\$10,679.76)
Total									(\$103,250.31)

Revision 5/29/2025 Page 5 of 17



					Co	ontract Project Informati	ion				
Project Number	Federal Proj. Number	Project Description	Route	County							
JCD0085	CD0085 FAS S403(70) Resurface Various PHELPS at various locations near St. James, St. Robert, and Doolittle										
Totals b	y Job N	umbers									
JCD0085	•										
	Liquid	ive entive ated Damages Contract Adjus			\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00				

Revision 5/29/2025 Page 6 of 17



Exceptions (Discrepancies) This Estimate Period

Exceptions (Discrepancies) This Estimate Period Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JCD0085, Item 2153000, Project Item Line Number 0020, Material Set 215300096, Material 3304AGBS - Aggregate Base JSP, Acceptance Action Generic 3304AGBS is insufficient.	QCQA Testing	shankb1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0085, Item 3105002, Project Item Line Number 0030, Material Set 310500296, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	QCQA Testing	shankb1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0085, Item 4020520, Project Item Line Number 0250, Material Set 402052096, Material 0402SLPMSL - Plant Mix for Surface Leveling, Acceptance Action Generic AspSL is insufficient.	QCQA Testing	shankb1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0085, Item 4020520, Project Item Line Number 0260, Material Set 402052096, Material 0402SLPMSL - Plant Mix for Surface Leveling, Acceptance Action Generic AspSL is insufficient.	QCQA Testing	shankb1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0085, Item 4020520, Project Item Line Number 0290, Material Set 402052096, Material 0402SLPMSL - Plant Mix for Surface Leveling, Acceptance Action Generic AspSL is insufficient.	QCQA Testing	shankb1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0085, Item 4071005, Project Item Line Number 0040, Material Set 407100596, Material 1015EASS1H - Emulsified Asphalt SS-1H, Acceptance Action Generic AspEmulsion is insufficient.	QCQA Testing	shankb1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0085, Item 6161005, Project Item Line Number 0070, Material Set 616100596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	QCQA Testing	shankb1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0085, Item 6161098A, Project Item Line Number 0090, Material Set 6161098A96, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	QCQA Testing	shankb1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0085, Item 6200009, Project Item Line Number 0110, Material Set 620000996, Material 1048PMPFWH - Preformed Thermoplastic Marking Tape Wh, Acceptance Action Generic 1048PMPFWH is insufficient.	QCQA Testing	shankb1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0085, Item 6200015, Project Item Line Number 0120, Material Set 620001596, Material 1048PMPFWH - Preformed Thermoplastic Marking Tape Wh, Acceptance Action Generic 1048PMPFWH is insufficient.	QCQA Testing	shankb1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0085, Item 6200021, Project Item Line Number 0130, Material Set 620002196, Material 1048PMPFWH - Preformed Thermoplastic Marking Tape Wh, Acceptance Action Generic 1048PMPFWH is insufficient.	QCQA Testing	shankb1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0085, Item 6200027, Project Item Line Number 0140, Material Set 620002796, Material 1048PMPFWH - Preformed Thermoplastic Marking Tape Wh, Acceptance Action Generic 1048PMPFWH is insufficient.	QCQA Testing	shankb1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0085, Item 6206000C, Project Item Line Number 0150, Material Set 6206000C96, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient.	QCQA Testing	shankb1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0085, Item 6206000C, Project Item Line Number 0150, Material Set 6206000C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	QCQA Testing	shankb1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0085, Item 6206001C, Project Item Line Number 0160, Material Set 6206001C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	QCQA Testing	shankb1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0085, Item 6206001C, Project Item Line Number 0160, Material Set 6206001C96, Material 1048PMTRWBYL - Marking Paint Acrylic Waterborne Yellow, Acceptance Action Generic 1048PMTRWBYL is insufficient.	QCQA Testing	shankb1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0085, Item 7034600, Project Item Line Number 0360, Material Set 703460096, Material 1039ERRAS - Epoxy Bonding Agent-Resin Anchor Systems, Acceptance Action Generic 1039ERRAS is insufficient.	QCQA Testing	shankb1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0085, Item 7034600, Project Item Line Number 0360, Material Set 703460096, Material 1053CSSIL - Concrete Sealer (CS) - Silane @, Acceptance Action Generic 1053CSSIL is insufficient.	QCQA Testing	shankb1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0085, Item 7034600, Project Item Line Number 0360, Material Set 703460096, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	QCQA Testing	shankb1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0085, Item 7034600, Project Item Line Number 0360, Material Set 703460096, Material 1036RSDFEC42M16 - Rein Steel EC No. 5/M16 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	QCQA Testing	shankb1	Overridden
Estimate Exception Type: Item Overrun: Contract 241115-D07, Contract Project JCD0085, Project Item Line Number 0250, Contract Line Item Number 0250, Item 4020520, Minor Item.	Pending Change Order	shankb1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 241115-D07, Contract Project JCD0085, Project Item Line Number 0260, Contract Line Item Number 0260, Item 4020520, Minor Item.	Pending Change Order	shankb1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 241115-D07, Contract Project JCD0085, Project Item Line Number 0280, Contract Line Item Number 0280, Item 4020520, Minor Item.	Pending Change Order	shankb1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 241115-D07, Contract Project JCD0085, Project Item Line Number 0270, Contract Line Item Number 0270, Item 4020520, Minor Item.	Pending Change Order	shankb1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 241115-D07, Contract Project JCD0085, Project Item Line Number 0320, Contract Line Item Number 0320, Item 4020520, Minor Item.	Pending Change Order	shankb1	Acknowledged

Revision 5/29/2025 Page 7 of 17



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
241115- D07	JCD0085	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$75,000.00	\$0.00
D07		0001	0020	2153000	SHAPING SLOPES, CLASS III	218.00	0.00	218.00	100F	208.09	\$1,350.00	\$280,921.50
		0001	0030	3105002	GRAVEL (A) OR CRUSHED STONE (B)	1,729.00	0.00	1,729.00	TONS	333.18	\$36.76	\$12,247.70
		0001	0040	4071005	TACK COAT	21,971.00	0.00	21,971.00	GAL	16,169.00	\$2.91	\$47,051.79
		0001	0050	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	541.00	0.00	541.00	TONS	0.00	\$228.39	\$0.00
		0001	0060	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	4,918.00	0.00	4,918.00	SQYD	0.00	\$9.68	\$0.00
		0001	0070	6161005	CONSTRUCTION SIGNS	4,045.00	0.00	4,045.00	SQFT	1,704.00	\$4.00	\$6,816.00
		0001	0080	6161025	CHANNELIZER (TRIM-LINE)	200.00	0.00	200.00	EA	0.00	\$5.00	\$0.00
		0001	0090	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	8.00	0.00	8.00	EA	8.00	\$1,750.00	\$14,000.00
		0001	0100	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.75	\$271,953.81	\$203,965.36
		0001	0110	6200009	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	88.00	172.00	260.00	LF	88.00	\$5.00	\$440.00
		0001	0120	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	72.00	24.00	96.00	LF	72.00	\$20.00	\$1,440.00
		0001	0130	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	2.00	0.00	2.00	EA	2.00	\$300.00	\$600.00
		0001	0140	6200027	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT	1.00	0.00	1.00	EA	1.00	\$500.00	\$500.00
		0001	0150	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	203,757.00	0.00	203,757.00	LF	163,006.00	\$0.11	\$17,930.66
		0001	0160	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	205,006.00	0.00	205,006.00	LF	164,005.00	\$0.11	\$18,040.55
		0001	0170	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	10,049.00	0.00	10,049.00	SQYD	9,060.00	\$11.06	\$100,203.60
		0001	0180	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	4,789.00	0.00	4,789.00	SQYD	4,288.50	\$14.72	\$63,126.72
		0010	0190	6061060	MGS GUARDRAIL	12,073.00	0.00	12,073.00	LF	12,023.00	\$26.50	\$318,609.50
		0010	0200	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	8.00	0.00	8.00	EA	4.00	\$4,350.00	\$17,400.00
		0010	0210	6061080	MGS END ANCHOR	3.00	0.00	3.00	EA	3.00	\$2,100.00	\$6,300.00
		0010	0220	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	47.00	0.00	47.00	EA	43.00	\$3,750.00	\$161,250.00
		0040	0230	9031250A	U-CHANNEL POST, 3 LB	168.00	0.00	168.00	LF	0.00	\$36.00	\$0.00
		0040	0240	9035069A	SHF-FLAT SHEET FLUORESCENT	27.00	0.00	27.00	SQFT	0.00	\$38.00	\$0.00
		0050	0250	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	1,041.50	0.00	1,041.50	TONS	1,115.50	\$98.00	\$109,319.00
		0051	0260	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	5,245.80	0.00	5,245.80	TONS	6,183.10	\$99.00	\$612,126.90
		0052	0270	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	4,956.10	0.00	4,956.10	TONS	5,293.90	\$99.00	\$524,096.10
		0053	0280	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	1,070.80	0.00	1,070.80	TONS	1,165.40	\$125.00	\$145,675.00
		0054	0290	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	267.70	0.00	267.70	TONS	262.80	\$138.00	\$36,266.40
		0055	0300	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	971.10	0.00	971.10	TONS	601.30	\$98.00	\$58,927.40
		0056	0310	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	905.80	0.00	905.80	TONS	804.50	\$140.00	\$112,630.00
		0057	0320	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	924.50	0.00	924.50	TONS	994.90	\$98.00	\$97,500.20
		0058	0330	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	2,720.30	0.00	2,720.30	TONS	2,680.00	\$96.00	\$257,280.00
		0070	0340	2161501	REMOVAL OF ASPHALT WEARING SURFACE	2,078.00	0.00	2,078.00	SQFT	0.00	\$8.81	\$0.00
		0071	0350	2161501	REMOVAL OF ASPHALT WEARING SURFACE	780.00	0.00	780.00	SQFT	0.00	\$23.47	\$0.00
		0071	0360	7034600	CURB BLOCKOUT	65.00	0.00	65.00	LF	52.00	\$205.38	\$10,679.76
		0001	5001	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	0.00	19.00	19.00	EA	0.00	\$47.25	\$0.00
	Project JC	D0085 - To	otal Value	Posted to E	Date as of Report Generated Date							\$3,235,344.13
241115-D	07 Overall	- Total Val	ue Poste	d to Date as	of Report Generated Date							\$3,235,344.13

Revision 5/29/2025 Page 8 of 17



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: JCD0085

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0020	2153000	SHAPING SLOPES, CLASS III	8/14/25	8/18/25	1	25.56	100F	SOR Saint James	3.907		4.202		
0030	3105002	GRAVEL (A) OR CRUSHED STONE (B)	8/6/25	8/18/25	1	263.33	TONS	various locations along outer road	0.010		2.735		
0040	4071005	TACK COAT	8/4/25	8/18/25	1	354.00	GAL	Various Intersections					
0070	6161005	CONSTRUCTION SIGNS	8/11/25	8/18/25	1	1,060.00	SQFT	See spreadsheets					
0090	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	8/11/25	8/18/25	1	4.00	EA	CMS Boards for advanced warning	.1				
0110	6200009	PREF THERMO PAVMT MARKING, 6 IN WHITE	8/9/25	8/18/25	1	88.00	LF	Pavement Marking					
0120	6200015	PREF THERMO PVMT MARK, 24 IN WHIT	8/9/25	8/18/25	1	72.00	LF	Pavement Marking					
0130	6200021	PREF THERMO PVMT MARK, LT/RT ARROW	8/9/25	8/18/25	1	2.00	EA	Pavement Marking					
0140	6200027	PREF THERMO PVMT MARKING, COMBO	8/9/25	8/18/25	1	1.00	EA	Pavement Marking					
0150	6206000C	4 IN. WHITE WATERBORNE PAVEMENT MARKING	8/9/25	8/18/25	1	163,006.00	LF	Striping					
0160	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	8/9/25	8/18/25	1	164,005.00	LF	Striping					
0190	6061060	MGS GUARDRAIL	8/14/25	8/18/25	1	1,387.50	LF	SOR Saint James	3.907		4.202		
0200	6061069	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	8/14/25	8/18/25	1	4.00	EA	SOR Saint James	3.907		4.202		
0220	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	8/14/25	8/18/25	1	4.00	EA	SOR Saint James	3.907		4.202		
0250	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	8/2/25	8/18/25	1	1,115.50	TONS	NOR International Rd					
0260	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	8/2/25	8/18/25	1	485.80	TONS	NOR Rt V to 68					
			8/4/25	8/18/25	1	40.30	TONS	Various Intersections					
0270	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	8/4/25	8/18/25	1	29.00	TONS	Various Intersections					
0280	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	8/4/25	8/18/25	1	95.40	TONS	Various Intersections					
290	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	8/4/25	8/18/25	1	28.40	TONS	Various Intersections					

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 6/5/2025 Page 9 of 17



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JCD0085	0020	SHAPING SLOPES, CLASS	Material		1	Jun 2, 2025	SYSTEM	(\$70,605.00)	
		III			1	Jun 2, 2025	SYSTEM	\$70,605.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user shankb1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					2	Jun 16, 2025	SYSTEM	(\$140,832.00)	
					2	Jun 16, 2025	SYSTEM	\$140,832.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user shankb1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					3	Jul 1, 2025	SYSTEM	(\$188,500.50)	
					3	Jul 1, 2025	SYSTEM	\$188,500.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user shankb1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					4	Jul 16, 2025	SYSTEM	(\$246,415.50)	
					4	Jul 16, 2025	SYSTEM	\$246,415.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user shankb1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					5	Aug 4, 2025	SYSTEM	(\$246,415.50)	
					5	Aug 4, 2025	SYSTEM	\$246,415.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user shankb1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					6	Aug 18, 2025	SYSTEM	(\$280,921.50)	
					6	Aug 18, 2025	SYSTEM	\$280,921.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user shankb1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
		Total			0		OVOTEM	\$0.00	
	0030	GRAVEL (A) OR CRUSHED STONE (B)	Material		3	Jul 1, 2025	SYSTEM	(\$1,102.80)	
					3	Jul 1, 2025	SYSTEM	\$1,102.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user shankb1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					4	Jul 16, 2025	SYSTEM	(\$1,102.80)	
					4	Jul 16, 2025	SYSTEM	\$1,102.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user shankb1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					5	Aug 4, 2025	SYSTEM	(\$2,567.69)	
					5	Aug 4, 2025	SYSTEM	\$2,567.69	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user shankb1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					6	Aug 18, 2025	SYSTEM	(\$12,247.70)	
					6	Aug 18, 2025	SYSTEM	\$12,247.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user shankb1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0030 -		Material				A) (= = :	\$0.00	
	0040	TACK COAT		Material .	3	Jul 1, 2025	SYSTEM	(\$8,581.59)	
					3	Jul 1, 2025	SYSTEM	\$8,581.59	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user shankb1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					4	Jul 16, 2025	SYSTEM	(\$8,581.59)	
					4	Jul 16, 2025	SYSTEM	\$8,581.59	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user shankb1 overridding Payment Estimate Exception 3 on the current Payment Estimate.



Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
D0085	0040	TACK COAT	Material	Туре	5	Aug 4,	SYSTEM	(\$46,021.65)	
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	0040	171011 00711	Waterial			2025	OTOTEM	(ψ-10,02 1.00)	
					5	Aug 4, 2025	SYSTEM	\$46,021.65	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user shankb1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					6	Aug 18, 2025	SYSTEM	(\$47,051.79)	
					6	Aug 18, 2025	SYSTEM	\$47,051.79	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user shankb1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
		- Total						\$0.00	
	0070	CONSTRUCTION SIGNS	Material		3	Jul 1, 2025	SYSTEM	(\$2,576.00)	
					3	Jul 1, 2025	SYSTEM	\$2,576.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user shankb1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					4	Jul 16, 2025	SYSTEM	(\$2,576.00)	
					4	Jul 16, 2025	SYSTEM	\$2,576.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user shankb1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					5	Aug 4, 2025	SYSTEM	(\$2,576.00)	
					5	Aug 4, 2025	SYSTEM	\$2,576.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user shankb1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					6	Aug 18, 2025	SYSTEM	(\$6,816.00)	
					6	Aug 18, 2025	SYSTEM	\$6,816.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user shankb1 overridding Payment
									Estimate Exception 7 on the current Payment Estimate.
				- Total				\$0.00	Estimate Exception 7 on the current Payment Estimate.
			Material - To					\$0.00 \$0.00	Estimate Exception 7 on the current Payment Estimate.
	0070	- Total	Material - To						Estimate Exception 7 on the current Payment Estimate.
	0070 -	CHANGEABLE MESSAGE SIGN	Material - To		3	Jul 1, 2025	SYSTEM	\$0.00	Estimate Exception 7 on the current Payment Estimate.
		CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR			3		SYSTEM SYSTEM	\$0.00 \$0.00	This adjustment offsets the original system-generated Material Payment
		CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE,				2025 Jul 1,		\$0.00 \$0.00 (\$7,000.00)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Payment
		CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED /			3	2025 Jul 1, 2025 Jul 16,	SYSTEM	\$0.00 \$0.00 (\$7,000.00) \$7,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Paymen Estimate Exception 5 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment
		CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED /			3	2025 Jul 1, 2025 Jul 16, 2025 Jul 16,	SYSTEM SYSTEM	\$0.00 \$0.00 (\$7,000.00) \$7,000.00 (\$7,000.00)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Paymen Estimate Exception 5 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Paymen
		CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED /			3 4 4	Jul 16, 2025 Jul 16, 2025 Jul 16, 2025 Aug 4,	SYSTEM SYSTEM	\$0.00 \$0.00 (\$7,000.00) \$7,000.00 (\$7,000.00)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Paymen Estimate Exception 5 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Paymen
		CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED /			3 4 4 5	2025 Jul 1, 2025 Jul 16, 2025 Jul 16, 2025 Aug 4, 2025 Aug 4,	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$7,000.00) \$7,000.00 (\$7,000.00) (\$7,000.00)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Paymen Estimate Exception 5 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Paymen Estimate Exception 5 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Payment
		CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED /			3 4 4 5 5	2025 Jul 1, 2025 Jul 16, 2025 Jul 16, 2025 Aug 4, 2025 Aug 4, 2025	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$7,000.00) \$7,000.00 (\$7,000.00) \$7,000.00 (\$7,000.00)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Paymen Estimate Exception 5 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Paymen Estimate Exception 5 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Payment
		CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED /			3 4 4 5 5 6	2025 Jul 1, 2025 Jul 16, 2025 Jul 16, 2025 Aug 4, 2025 Aug 4, 2025 Aug 18, 2025	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$7,000.00) \$7,000.00 (\$7,000.00) \$7,000.00 (\$7,000.00) (\$14,000.00)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Paymen Estimate Exception 5 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Paymen Estimate Exception 5 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Paymen Estimate Exception 7 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Payment
		CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED /		- Total	3 4 4 5 5 6	2025 Jul 1, 2025 Jul 16, 2025 Jul 16, 2025 Aug 4, 2025 Aug 4, 2025 Aug 18, 2025	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$7,000.00) \$7,000.00 (\$7,000.00) \$7,000.00 (\$7,000.00) \$7,000.00 (\$14,000.00)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Paymen Estimate Exception 5 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Paymen Estimate Exception 5 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Paymen Estimate Exception 7 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Payment
	0090	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	Material Material - To	- Total	3 4 4 5 5 6 6	2025 Jul 1, 2025 Jul 16, 2025 Jul 16, 2025 Aug 4, 2025 Aug 4, 2025 Aug 18, 2025	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$7,000.00) \$7,000.00 (\$7,000.00) \$7,000.00 (\$7,000.00) \$7,000.00 \$14,000.00 \$0.00 \$0.00 \$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Paymen Estimate Exception 5 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Paymen Estimate Exception 5 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Paymen Estimate Exception 7 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Payment
	0090	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	Material	- Total	3 4 4 5 5 6	2025 Jul 1, 2025 Jul 16, 2025 Jul 16, 2025 Aug 4, 2025 Aug 4, 2025 Aug 18, 2025	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$7,000.00) \$7,000.00 (\$7,000.00) \$7,000.00 (\$7,000.00) \$7,000.00 (\$14,000.00) \$14,000.00 \$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Paymen Estimate Exception 5 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Paymen Estimate Exception 5 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Paymen Estimate Exception 7 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Payment Estimate Item Adjustment (0005) due to user shankb1 overridding Payment



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JCD0085	0110	PREF THERMO PAVMT MARKING,	Material	- Total				\$0.00	
		6 IN WHITE	Material - To	tal				\$0.00	
		- Total	Matarial		0	A 40	OVOTEM	\$0.00	
	0120	PREF THERMO PVMT MARK, 24	Material		6	Aug 18, 2025	SYSTEM	(\$1,440.00)	
		IN WHIT			6	Aug 18, 2025	SYSTEM	\$1,440.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user shankb1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0120							\$0.00	
	0130	PREF THERMO PVMT MARK,	Material		6	Aug 18, 2025	SYSTEM	(\$600.00)	
		LT/RT ARROW			6	Aug 18, 2025	SYSTEM	\$600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user shankb1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
				- Total				\$0.00	
			Materia <u>l - To</u>	- Total Material - Total				\$0.00	
	0130	- Total						\$0.00	
	0140	PREF THERMO	Material		6	Aug 18,	SYSTEM	(\$500.00)	
		PVMT MARKING, COMBO			6	2025 Aug 18, 2025	SYSTEM	\$500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user shankb1 overridding Payment
									Estimate Exception 12 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0140							\$0.00	
	0150	4 IN. WHITE WATERBORNE PAVEMENT MARKING	Material		6	Aug 18, 2025	SYSTEM	(\$17,930.66)	
					6	Aug 18, 2025	SYSTEM	\$17,930.66	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user shankb1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0150	Total						\$0.00	
	0160	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	Material		6	Aug 18, 2025	SYSTEM	(\$18,040.55)	
					6	Aug 18, 2025	SYSTEM	\$18,040.55	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user shankb1 overridding Payment Estimate Exception 16 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0160	Total						\$0.00	
	0190	MGS GUARDRAIL	Construction Stockpile		1	Jun 2, 2025	SYSTEM	\$117,287.95	Payment Estimate Item Adjustment generated Stockpile Transaction
					2	Jun 16, 2025	SYSTEM	(\$37,050.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					3	Jul 1, 2025	SYSTEM	(\$30,720.63)	Payment Estimate Item Adjustment generated Stockpile Transaction
					4	Jul 16, 2025	SYSTEM	(\$31,764.20)	Payment Estimate Item Adjustment generated Stockpile Transaction
					6	Aug 18, 2025	SYSTEM	(\$17,135.62)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total					\$617.50	
			Construction	Stockpile - 1	Γotal			\$617.50	
	0190	- Total						\$617.50	
	0200	MGS BRIDGE APP. TRANS SEC	Construction Stockpile		1	Jun 2, 2025	SYSTEM	\$14,120.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		(REG/NO CURB)			6	Aug 18, 2025	SYSTEM	(\$7,060.00)	Payment Estimate Item Adjustment generated Stockpile Transaction



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
JCD0085	0200	MGS BRIDGE APP. TRANS SEC	Construction Stockpile	- Total				\$7,060.00		
		(REG/NO CURB)	Construction	Stockpile - 1	Γotal			\$7,060.00		
	0200 -	Total						\$7,060.00		
	0210	MGS END ANCHOR	Construction Stockpile		1	Jun 2, 2025	SYSTEM	\$1,310.00	Payment Estimate Item Adjustment generated Stockpile Transaction	
					2	Jun 16, 2025	SYSTEM	(\$655.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					3	Jul 1, 2025	SYSTEM	(\$655.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				\$0.00		
			Construction	Stockpile - 1	Γotal			\$0.00		
	0210 -	Total						\$0.00		
	0220	TYPE A CRASHWORTHY END TERMINAL	Construction Stockpile		1	Jun 2, 2025	SYSTEM	\$62,900.00	Payment Estimate Item Adjustment generated Stockpile Transaction	
		(MASH)			2	Jun 16, 2025	SYSTEM	(\$20,350.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					3	Jul 1, 2025	SYSTEM	(\$9,250.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					4	Jul 16, 2025	SYSTEM	(\$18,500.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					6	Aug 18, 2025	SYSTEM	(\$7,400.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				\$7,400.00		
			Construction	Stockpile - 1	Total			\$7,400.00		
	0220 -	Total						\$7,400.00		
	0250	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	Material		6	Aug 18, 2025	SYSTEM	(\$109,319.00)		
					6	Aug 18, 2025	SYSTEM	\$109,319.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user shankb1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	
							\$0.00			
			Material - To	tal				\$0.00		
				Other Item Adjustment	ACAD	6	Aug 18, 2025	shankb1	\$870.09	(513.75-493.75) x 1115.5 x 3.9% = 870.09
				ACAD - Tota	al			\$870.09		
			Other Item A	djustment - T	otal			\$870.09		
			Overrun	Overrun	6	Aug 18, 2025	SYSTEM	(\$7,319.56)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL	
				Overrun - Total				(\$7,319.56)		
			Overrun - To	tal				(\$7,319.56)		
			Price FUEL		6	Aug 18, 2025	SYSTEM	\$1,018.45	Reference Item Price Adjustment Index Adjustment Type applied is FUEL	
				- Total				\$1,018.45		
			Price FUEL - Total					\$1,018.45		
	0250 -	Total						(\$5,431.02)		
	0260	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR			5	Aug 4, 2025	SYSTEM	(\$560,043.00)		
					5	Aug 4, 2025	SYSTEM	\$560,043.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user shankb1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	
					6	Aug 18, 2025	SYSTEM	(\$612,126.90)		
					6	Aug 18, 2025	SYSTEM	\$612,126.90	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0021) due to user shankb1 overridding Payment Estimate Exception 4 on the current Payment Estimate.	
				- Total				\$0.00	,	
			Material - To					\$0.00		
			Other Item	ACAD	5	Aug 4,	shankb1	\$4,412.46	(513.75-493.75) x 3.9 x 5657 = 4412.46	
			Adjustment			2025		Ţ., z		



Distribution Color First Color Color	ct Line	e Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
PO64-22 (SUR Chief Rom Adjustment Totals S4,822.85	85 026	PAVEMENT		ACAD	6		shankb1	\$410.39	(513.75-493.75) x 526.1 x 3.9% = 410.39
Overrun				ACAD - Tot	al			\$4,822.85	
Content			Other Item A	djustment - 1	Γotal			\$4,822.85	
2026 10 10 10 10 10 10 10 1			Overrun	Overrun	5		SYSTEM	(\$41,003.68)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
Overrun - Total					6		SYSTEM	(\$52,564.23)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
Price FUEL				Overrun - T	otal			(\$93,567.91)	
2025 6 Aug 18, 2025 8480.33 Reference Item Price Adjustment Index Adjustment Type applied is FUEL. 2025 8480.33 Reference Item Price Adjustment Index Adjustment Type applied is FUEL 2025 8480.33 Reference Item Price Adjustment Index Adjustment Index Adjustment Index Adjustment Type applied is FUEL 2025 8480.33 Reference Item Price Adjustment Index Adjustment Type applied is FUEL 2025 8480.33 Reference Item Price Adjustment Index Adjustment Type applied is FUEL 2025 8480.33 Reference Item Price Adjustment Index Adjustment Type applied is FUEL 2025 8480.33 Reference Item Price Adjustment Index Adjustment Type applied is FUEL 2025 8480.33			Overrun - To	tal				(\$93,567.91)	
Price FUEL - Total S4,537.08			Price FUEL		5	Aug 4, 2025	SYSTEM	\$4,056.75	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
Price FUEL Total S4,637,08					6		SYSTEM		Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$4,537.08	
O270 BITUMINOUS PAVEMENT ACAD 5 Aug 4, 2025 Alg 4, 2025 ACAD - Total Salary ACAD - T			Price FUEL -	· Total				\$4,537.08	
Adjustment	026	0 - Total						(\$84,207.98)	
ACAD - Total S22.62 (513.75-493.75) x 29.0 x 3.3% = 22.62	027	PAVEMENT		ACAD	5		shankb1	\$4,106.62	(513.75-493.75) x 3.9 x 5264.9 = 4106.62
Other Item Adjustment - Total					6		shankb1	\$22.62	(513.75-493.75) x 29.0 x 3.9% = 22.62
Overrun Overrun				ACAD - Tot	al			\$4,129.24	
2025 6 Aug 18, SYSTEM (\$2,897.48) Reference Item Price Adjustment Index Adjustment Type applied is FUEL			Other Item A	djustment - 1	Γotal			\$4,129.24	
2025			Overrun	Overrun	5		SYSTEM	(\$30,792.65)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
Price FUEL					6		SYSTEM	, , ,	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
Price FUEL 5				Overrun - T	otal			(\$33,690.13)	
2025 6			Overrun - To	tal				(\$33,690.13)	
Company			Price FUEL		5	Aug 4, 2025	SYSTEM	\$3,775.57	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
Price FUEL - Total \$3,802.05					6		SYSTEM		Reference Item Price Adjustment Index Adjustment Type applied is FUEL
Comparison Com				- Total				\$3,802.05	
O280 BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR		Price FUEL - Total							
Adjustment 2025 6	027	0 - Total						(\$25,758.84)	
ACAD - Total \$909.01	028	PAVEMENT	MENT Adjustment	ACAD	5		shankb1	\$834.60	(513.75-493.75) x 3.9 x 1070 = 834.60
Other Item Adjustment - Total \$909.01 Overrun 6 Aug 18, 2025 SYSTEM (\$11,911.37) Reference Item Price Adjustment Index Adjustment Type applied is FUEL Overrun - Total (\$11,911.37) Overrun - Total (\$11,911.37) Price FUEL 5 Aug 4, 2025 SYSTEM \$767.32 Reference Item Price Adjustment Index Adjustment Type applied is FUEL 6 Aug 18, 2025 SYSTEM \$87.10 Reference Item Price Adjustment Index Adjustment Type applied is FUEL							shankb1		(513.75-493.75) x 95.4 x 3.9% = 74.41
Overrun Overrun 6 Aug 18, 2025 (\$11,911.37) Reference Item Price Adjustment Index Adjustment Type applied is FUEL Overrun - Total (\$11,911.37) Overrun - Total (\$11,911.37) Price FUEL 5 Aug 4, 2025 8YSTEM \$767.32 Reference Item Price Adjustment Index Adjustment Type applied is FUEL Aug 18, 2025 8YSTEM \$87.10 Reference Item Price Adjustment Index Adjustment Type applied is FUEL				ACAD - Tot	ACAD - Total				
Overrun - Total (\$11,911.37) Overrun - Total (\$11,911.37) Price FUEL 5 Aug 4, 2025 6 Aug 18, 2025 887.10 Reference Item Price Adjustment Index Adjustment Type applied is FUEL			Other Item A	djustment - 1	Total			\$909.01	
Overrun - Total (\$11,911.37) Price FUEL 5 Aug 4, 2025 6 Aug 18, 2025 SYSTEM \$87.10 Reference Item Price Adjustment Index Adjustment Type applied is FUEL \$87.10 Reference Item Price Adjustment Index Adjustment Type applied is FUEL			Overrun			Aug 18, 2025	SYSTEM	, , ,	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
Price FUEL 5 Aug 4, 2025 6 Aug 18, 2025 SYSTEM \$767.32 Reference Item Price Adjustment Index Adjustment Type applied is FUEL \$87.10 Reference Item Price Adjustment Index Adjustment Type applied is FUEL \$87.10 Reference Item Price Adjustment Index Adjustment Type applied is FUEL					otal			(\$11,911.37)	
2025 6 Aug 18, 2025 \$87.10 Reference Item Price Adjustment Index Adjustment Type applied is FUEL			Overrun - To	verrun - Total				(\$11,911.37)	
2025			Price FUEL		5	2025	SYSTEM	\$767.32	, , , , ,
- Total \$854.42					6	Aug 18, 2025	SYSTEM		Reference Item Price Adjustment Index Adjustment Type applied is FUEL
Price FUEL - Total \$854.42			Price FUEL -	Total				\$854.42	
0280 - Total (\$10,147.94)	028	0 - Total						(\$10,147.94)	
0290 BITUMINOUS Material 5 Aug 4, 2025 (\$32,347.20) PAVEMENT MIXTURE	029	PAVEMENT	Material		5		SYSTEM	(\$32,347.20)	
PG64-22 (SUR 5 Aug 4, SYSTEM \$32,347.20 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user shankb1 overridding Payment Estimate Exception 4 on the current Payment Estimate.					5		SYSTEM	\$32,347.20	



ct I	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
85 0	0290	BITUMINOUS PAVEMENT	Material		6	Aug 18, 2025	SYSTEM	(\$36,266.40)		
		MIXTURE PG64-22 (SUR			6	Aug 18, 2025	SYSTEM	\$36,266.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0027) due to user shankb1 overridding Payment Estimate Exception 5 on the current Payment Estimate.	
				- Total				\$0.00		
			Material - To	tal				\$0.00		
			Other Item Adjustment	ACAD	5	Aug 4, 2025	shankb1	\$182.83	(513.75-493.75) x 3.9 x 234.4 = 182.83	
					6	Aug 18, 2025	shankb1	\$22.15	(513.75-493.75) x 28.4 x 3.9% = 22.19	
				ACAD - Tot	al			\$204.98		
			Other Item A	djustment - T	otal			\$204.98		
			Price FUEL		5	Aug 4, 2025	SYSTEM	\$168.09	Reference Item Price Adjustment Index Adjustment Type applied is FUEL	
					6	Aug 18, 2025	SYSTEM	\$25.93	Reference Item Price Adjustment Index Adjustment Type applied is FUEL	
				- Total				\$194.02		
			Price FUEL -	Total				\$194.02		
O	0290 -	Total						\$399.00		
0	0300	BITUMINOUS PAVEMENT MIXTURE	Other Item Adjustment	ACAD	5	Aug 4, 2025	shankb1	\$469.01	(513.75-493.75) x 3.9 x 601.3 = 469.01	
		PG64-22 (SUR		ACAD - Tot	al			\$469.01		
			Other Item A	djustment - T	otal			\$469.01		
			Price FUEL		5	Aug 4, 2025	SYSTEM	\$431.20	Reference Item Price Adjustment Index Adjustment Type applied is FUEL	
				- Total				\$431.20		
			Price FUEL -	· Total				\$431.20		
0	0300 -	300 - Total						\$900.21		
0	310	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	PAVEMENT MIXTURE	Other Item Adjustment	ACAD	5	Aug 4, 2025	shankb1	\$627.51	(513.75-493.75) x 3.9 x 804.5 = 627.51
				ACAD - Tot	al			\$627.51		
			Other Item A	djustment - T	otal			\$627.51		
			Price FUEL		5	Aug 4, 2025	SYSTEM	\$576.92	Reference Item Price Adjustment Index Adjustment Type applied is FUEL	
				- Total				\$576.92		
			Price FUEL -	Total				\$576.92		
0	0310 -	Total						\$1,204.43		
0	0320	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	Other Item Adjustment	ACAD	5	Aug 4, 2025	shankb1	\$776.02	(513.75-493.75) x 3.9 x 994.9 = 776.02	
				ACAD - Total						
									\$776.02	
				djustment - T			01/0==11	\$776.02		
			Other Item A	Overrun	5	Aug 4, 2025	SYSTEM	\$776.02 (\$6,949.69)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL	
			Overrun	Overrun - T	5		SYSTEM	\$776.02 (\$6,949.69) (\$6,949.69)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL	
			Overrun - To	Overrun - T	5 otal	2025		\$776.02 (\$6,949.69) (\$6,949.69) (\$6,949.69)		
			Overrun	Overrun - T	5		SYSTEM	\$776.02 (\$6,949.69) (\$6,949.69) (\$6,949.69) \$713.47	Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL	
			Overrun - To Price FUEL	Overrun - Total	5 otal	2025 Aug 4,		\$776.02 (\$6,949.69) (\$6,949.69) (\$6,949.69) \$713.47		
	0330	Total	Overrun - To	Overrun - Total	5 otal	2025 Aug 4,		\$776.02 (\$6,949.69) (\$6,949.69) (\$6,949.69) \$713.47 \$713.47		
		Total BITUMINOUS PAVEMENT	Overrun - To Price FUEL Price FUEL - Other Item	Overrun - Total	5 otal	Aug 4, 2025 Jul 1,		\$776.02 (\$6,949.69) (\$6,949.69) (\$6,949.69) \$713.47		
			Overrun - To Price FUEL Price FUEL -	Overrun - T tal - Total	5 5	Aug 4, 2025	SYSTEM	\$776.02 (\$6,949.69) (\$6,949.69) (\$6,949.69) \$713.47 \$713.47 (\$5,460.20)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL	
		BITUMINOUS PAVEMENT MIXTURE	Overrun - To Price FUEL Price FUEL - Other Item Adjustment	Overrun - T tal - Total Total	5 S S S S S S S S S S S S S S S S S S S	Aug 4, 2025 Jul 1,	SYSTEM	\$776.02 (\$6,949.69) (\$6,949.69) (\$6,949.69) \$713.47 \$713.47 (\$5,460.20) \$2,251.20	Reference Item Price Adjustment Index Adjustment Type applied is FUEL	





Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JCD0085	0330	BITUMINOUS PAVEMENT	Price FUEL	- Total				(\$1,147.79)	
		MIXTURE PG64-22 (SUR	Price FUEL -	Total				(\$1,147.79)	
	0330 -	Total						\$1,103.41	
0:	0360	CURB BLOCKOUT	T Material		5	Aug 4, 2025	SYSTEM	(\$10,679.76)	
					5	Aug 4, 2025	SYSTEM	\$10,679.76	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0021) due to user shankb1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					6	Aug 18, 2025	SYSTEM	(\$10,679.76)	
					6	Aug 18, 2025	SYSTEM	\$10,679.76	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0028) due to user shankb1 overridding Payment Estimate Exception 20 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0360 -	Total						\$0.00	
JCD0085	- Total						(\$112,321.43)		
Overall - 1	Γotal						(\$112,321.43)		

MoDOT

Contract Adjustments for Contract - 241115-D07

There are no contract adjustments to display for this contract.

Revision 5/29/2025 Page 17 of 17